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7-SrL

Pro

bAUd dAtA — PAr — Addr Abru— OPt —INP —{tot H1LO{— SPNt]
PAX 7-SrL
STEP
1 BAUd 9600 |300 19200
2 DAtA =7 7 or 8
3 PAr = Odd odd(  ),EVEN( ) NO
4 Addr <0 0 99
RS232C 0 RS485
5 Abru < YES YES or NO YES
6 OPL=NO YES or NO YES
INP = YES YES or NO
HILD = YES YES or NO
tot = YES YES or NO
SPNt— YES YES or NO




(N)

1D
1D
ID ID
A INP T,P
B TOT T,P,R
C MAX T,P,R MAX
D MIN T,P,R MIN
E No.1 SP1 T,PV,R
F No.2 SP2
G No.3 SP3
H No.4 SP4
I AOR TV
J CSR TV
17 No.1 350
N17VE350%
5
N5TA
= No.4
RH




0.0 25
2.5 25 25.0
T P

1,2 [00-99]

3 <SP>( )
4-6 3
7-18 12 10

19 <CR>

20 <LF>

21 <SP>*

22 <CR>*

23 <LF>*

N=0
ID 12
CR LF
SP><CR><LF>

1-12 12 10

13 <CR>

14 LF>

15 SP>*

16 CR *

17 LF>*



1. 17 875
17INP 875 CR><LF

2. 0 No.2 -250.5
SP2 -250.5 CR> LF
3. 0 No.2 250
SP2 250 CR><LF><SP><CR> LF
PAX
CSR
Bit 0 No.1
0 OFF
1 ON
Bit 1 No.2
Bit 2 No.3
Bit 3 No.4
Bit 4
0
1
Bit 5 0
Bit 6 PAXT
0
1
Bit 7 0
Bit7 HEX Bit7
1 0
Bit4 “ 1" Bit0,1,2,3
AOR
CSR
R CSR

PAXT



VJ<30>* 76 5 43210
OFF VIO ASCII0O=0 1 1 0 0 0 O O or<30>
1,3 ON VJ<35 * 76 5 43210
2,4 OFF VJI5* ASCII5=0 1 1 0 0 1 0 1 or<35>
VI<40>* 76 5 43210
VI@* ASCII@=1 00 0 0 0 O O or<40>
1 V= J=CSR, *
2 0A>(LF),<0D>(CR),<24>($), 2E>(*)
AOR
CSR 0-4095 OmA omV
20mA 10V
N
I(mA) V(V) 0.15%FS
0 0.000 0.000
1 0.005 0.0025 20mA
2047 10.000 5000 | 10V)
4094 19.995 9.9975
4095 20.000 10.000
1.
V14095*
2.

VI0*




